C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

252 9[1139 97[8894 i

4) 5) 6)

7|35 2[2505 568624 8

7) 8) 9)
451270 41790 7|1575

1-9 [89|78|67]56|44[33[22]11] 0 |

[ M ath ] www.CommonCoreSheets.com 6




=

Vertical Division with a Helper Grid

Name:. Answer Key

Solve each problem. Answers
) 26 2) 12615 3) 91r67 26
252 91139 97[8894 -
4 0 0 2. 126 r5
12 11 88
12 9 0 3. 91r67
0 23 889
4 5
18 873
59 164 s 1252r1
54 97
5 67 6. 154
7 6
4) 5 5 1252r1 6) 154
7[35 2|2505 56/8624 s 19712
0 2 0
35 05 86 0. 225
35 4 56
0 10 302
10 280
05 224
4 224
1 0
7) 6 8 197r2 9) 225
45[270 4790 7|1575
0 4 0
27 39 15
0 36 14
270 30 17
270 28 14
0 2 35
35
0
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
126 r5 154 197 r2
225 1252 rl 91 r67 1
26 5 6
1) 2) 3)
2|52 91139 97/8894
4) 5) 6)
7)35 22505 56(862 4
7) 8) 9)
45270 41790 711575
M odified 1-9 |89[78]|67[56|44[33|22[11] 0 |
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